e N a Safety glass_es shouk_i be
9.& CURT 11240 INSTALLATION INSTRUCTIONS Am:tr;ﬁ;ga.t.hti?:;m

(YEARS: 2012-PRESENT | [ MAKE: CHEVROLET | [ MODEL: soNIC | [STYLE: sEDAN )
7 WARNING: NEVER EXCEED YOUR VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY \
For more information log onto www.curtmfg.com & for helpful towing tips log onto www.hitchinfo.com

WEIGHT CARRYING: TRAILER WEIGHT: 2000 LBS.
TONGUE WEIGHT: 200 LBS.

PRO INSTALL TIME: 20 MIN. INSTALLATION TIPS:
NOVICE INSTALL TIME: 40 MIN.

VEHICLE PHOTO:

1. BEFORE YOU BEGIN INSTALLATION, READ ALL
INSTRUCTIONS THOROUGHLY.

2. TO EASE INSTALLATION, 2 PEOPLE MAY BE
REQUIRED.

3. USING PROPER TOOLS WILL GREATLY IMPROVE
THE QUALITY OF THE INSTALL AND REDUCE THE

[ INSTALLATION REQUIRES: TIME REQUIRED.
|- 4. NEED HELP OR HAVE SOME QUESTIONS?

,’ CALL TECHNICAL SUPPORT AT 877-287-8634
“/

.
T 11/16" Vi

IF YOU ARE HESITANT TO UNDERTAKE
THIS TASK ON YOUR OWN, CONTACT AN AUTHORIZED
CURT INSTALLER FOR ADDITIONAL ASSISTANCE.

LEVEL OF DIFFICULTY: EASY

& TORQUE
. RATCHET | SOCKET | WRENCH

UL

DRILL BIT

MODERATE CHALLENGING

FISHWIRE HARDWARE

N

1" SAFETY REVERSE FISHWIRE
GLASSES HARDWARE (2017 MODELS)
HOLE ENLARGEMENT
REQUIRED
N A A\

. L \ L Jl MAKE SURE YOUR HITCH MATCHES

PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE ALL FASTENERS ARE TIGHT AND ALL STRUCTURAL COMPONENTS ARE SOUND

CURT Manufacturing LLC. warrants this product to be free of defects in material and/or workmanship at the time of retail purchase by the original purchaser. If the product is found to be defective,
SCAN FOR CURT Manufacturing LLC. may repair or replace the product at their option, when the product is returned, prepaid, with proof of purchase. Alteration to, misuse of, or improper installation of this product
MORE INFO voids the warranty. CURT Manufacturing LLC.'s liability is limited to repair or replacement of products found to be defective, and specifically excludes liability for incidental or consequential loss or damage.
For more information log onto www.curtmfg.com
This product complies with safety specifications and requirements for connecting devices and towing systems of the state of New York, V.E.S.C.Regulation V-5 and SAE J684. 9/11/2020




INSTALLATION WALKTHROUGH:

~
. 1. Fishwire CM-SP2 spacers and 7/16-14 carriage bolts through access hole in
Parts List frame rail and down through attachment hole, (2) places, each side.

ITEM | QTY | PART NUMBER DESCRIPTION NOTE: On 2017 models; enlarge forward-most attachment hole to one inch using

drill and 1" drill bit. Use as new access hole to fishwire 7/16" carriage bolts and

1 4 | 10-10282 BOLT.CAR,7/16-14 UNC,1-1/2,GRD8,YZ CM-SP2 spacers into the frame rail. Reverse fishwire in access hole to use as
2 4 | CM-SP2 250 x .88 x 2.25" SPACER attachment point.
&
3 4 | 20-00103 NUT,SER-FLANGE,7/16-14 UNC,GRD8,YZ
4 4 | 7_16 FISHWIRE 7/16" FISHWIRE

a ACCESS HOLE
ACCESS HOLE

CLEARANCE SLOT FOR STUD
IN PASSENGER FRAME RAIL
2017 MODELS: ENLARGE HOLE
TO USE AS ACCESS HOLE FOR
FISHWIRE (BOTH SIDES)

DRIVER SIDE FRAME RAIL

PASSENGER
FRAME RAIL

(2. Raise hitch into position, lifting driver side first over tailpipe, then lifting passenger
side.

3. Secure with 7/16" hex flange nuts.
4. Tighten all 7/16-14 fasteners to 70 ft.-Ibs.

|_Installation is complete.

VEHICLE TAILPIPE k\Ve’\;J

DESIGNED FOR USE WITH
BALLMOUNT #D-20/45520 <

EURO MOUNT OPTION &/
AVAILABLE \\\ <~
#45561 (1 7/8" BALL) >
#45562 (2" BALL) ?0

For more information log onto www.curtmfg.com




11240 CHEVROLET SONIC SEDAN

9/11/2020

/GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH: 2000 LBS.TRAILER WEIGHT & 200 LBS. TONGUE WEIGHT.\
***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***
WARNING: ALL NON-TRAILER LOADS APPLIED TO THIS PRODUCT MUST BE SUPPORTED BY 18050 STABILIZING STRAPS.
** FAILURE TO PROPERLY SUPPORT NON-TRAILER LOADS WILL VOID PRODUCT WARRANTY**
HAVING INSTALLATION QUESTIONS? CALL TECHNICAL SUPPORT AT 877-287-8634

\_
Parts List REVERSE PULL FISHWIRE INSERT 00|LEDF|:§|::-I (:IFV :EEW-III;ESOI:LN':HQRlilJEGH
ITEM | QTY | PART NUMBER DESCRIPTION TECHNIQUE HITCH MOUNTING HOLE IN VEHICLE FRAME RAIL
1 4 | 10-10282 BOLT,CAR,7/16-14 UNC,1-1/2,GRD8,YZ T AGH FISHWIRE 10 CARKIAGE BoLn D OF FlSHie s O e e AN,
" THREAD BOLT INTO COIL. KINK WIRE
2 4 CM-SPZ 250 X 88 X 225 SQUARE HOLE SPACER AND SLIDE SPACER ONTO FISHWIRE. PUSH TO KEEP SPACER SEPERATE FROM
" THE BOLT THRU THE HOLE FOLLOWED BY THE BOLT AS SHOWN. PULL

3 4 |7_16 FISHWIRE | 7/16" FISHWIRE SPACER (AS SHOWN). PULL BOLT BACK INTO FISHWIRE, SPACER, AND

4 4 20-00147 NUT,HEX,7/16-14 UNC,GRDS,YZ POSITION, PROTRUDING FROM THE FRAME. BOLT THROUGH FRAME
AND OUT MOUNTING HOLE.
USE FISHWIRE TO GUIDE  <{ HOLE

N
3%

TO USE AS ACCESS

DRIVER
3\<

HITCH WEIGHT: 34 LBS. VEHICLE TAILPIPE

2017 MODELS: ENLARGE HOLE

FISHWIRE (BOTH SIDES)

INSTALL TIME TOOLS REQUIRED

HITCH DURING MOUNTING AND PREVENT LOSS OF BOLT /
SPACER INSIDE FRAME RAIL.
**NOTE: SOME VEHICLES MAY FISHWIRE THROUGH END OF FRAME**

ACCESS HOLE

PASSENGER SIDE FRAME RAIL

CLEARANCE SLOT FOR STUD IN
PASSENGER SIDE FRAME RAIL

HOLE FOR

SIDE FRAME RAIL

EURO MOUNT OPTION
AVAILABLE
#45561 (1 7/8" BALL) &
#45562 (2" BALL)

DESIGNED FOR USE WITH

BALLMOUNT # D-20 / 45520

PROFESSIONAL: 20 MINUTES RATCHET
NOVICE (DIY): 40 MINUTES 11/16" SOCKET
INSTALL NOTES: TORQUE WRENCH

- FISHWIRE HARDWARE DRILL
- REVERSE FISHWIRE HARDWARE 1" DRILL BIT
- HOLE ENLARGEMENT REQUIRED SAFETY GLASSES

(2017 MODELS)

INSTALLATION STEPS

1. Fishwire CM-SP2 spacers and 7/16-14 carriage bo
(2) places, each side.

attachment point.
2. Raise hitch into position, lifting driver side first over
3. Secure with 7/16" hex flange nuts.

4. Torque all 7/16-14 fasteners to 70 ft.-Ibs.

NOTE: On 2017 models; enlarge forward-most attachment hole to one inch using drill and 1" drill bit. Use as new access hole
to fishwire 7/16" carriage bolts and CM-SP2 spacers into the frame rail. Reverse fishwire in access hole to use as

PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
_ ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND. )

lts through access hole in frame rail and down through attachment hole,

tailpipe, then lifting passenger side.

Curt Manufacturing LLC., warrants this product to be free of defects in material and

/or workmanship at the time of retail purchase by the original purchaser. If the product is found to be defective,

Curt Manufacturing LLC., may repair or replace the product, at their option, when the product is returned, prepaid, with proof of purchase. Alteration to, misuse of, or improper installation of
this product voids the warranty. Curt Manufacturing LLC.'s liability is limited to repair or replacement of products found to be defective, and specifically excludes liability for incidental or

consequential loss or damage.




	11240-INS (C1)
	11240-INS (B&W)

